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Theorem

Theorem 1. Let s < p/2 and | > s two integers such that either
1. we haves+ 1 < p and Ipmin(s+1) > sPpmax(l) and set

Ks | = \/Cbmin(s T /) (1 _ \//(bsnf:(a;(—l{)/)) > 0, Hs,| — \/Cbma/x(/).

2. we have ¢min(25) > 0525 and set

o _ B 95,25 o 95,25
ks | = \/Cpmm(zs) (1 ¢min(25)) >0, Ws) = \/5¢min(25)-

Then, with probability at least 1 — Cq (€, 9, 7’)p1_1L%, we have for any o > 0,
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Local Theorem

Theorem 2. Let Jyp C{1,..., p} be fixed. Suppose that for some constants
K, > 0 and uj, > 0 depending on Jy, we have for any A,

18l > ksl = 5 (gl = Ple) - (LAGo, . 1))
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Then, with probability at least 1 — C1(g, 0, )p~~ T+, we have for any o > 0,
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